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First question: (compulsory) [8 Marks for the first question]

Choose the correct answer:
1) If "C, = n'1C6 =18 : 7 ,thenn= ...

@15 @ 20
@18 @ 21

2) If the straight line x =3y = azis parallel to the plane
x+ 3y + 2z + 4 = zero then a=

@ 3 © 1
® ® -
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Y@+ bw +aw’)(a+bw’ +awt)=

@ (a-b) © b*-a?
@b—a @ b+ a

3, _5
4) IfZ,, Z, aretwo complex numbers where the arg (Z,Z,) = 6” ,

arg (71) =%
©
®

then the arg (Z,Z,) = +==+exereee
L 21
3 © .
2 @ =
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5) x> + y?> + z2- 6x + 4z = 12 is an equation of a sphere,
whose diameter length = «--xeuesvee unit of length.

@ 10 ©
® s @

[
Nlm NG

by 5 8
6) If 0 x+1 1 =24 , then x =i
0 0 x+2
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7)|f|1_ Inx =1 then ye...........
(@ 1 © {e. 1}
b {e} @ {0,1)

2 1 3
8) Therank of the matrix A= (-1 2 1 | equals ==r=-x:ux-
3 1 2
® o © 2
® 1 @ 3
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Answer only three of the following questions: [4 Marks for each]

The second guestion

a) In the expansion of (x? +

1,13
8x)

(First) Prove that thereis no term free of x and find the
coefficient of x20 .

(Second) If the fourth and the eleventh terms are equal , find the
value of x..
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b) Find all different forms of the equation of the straight line
_ y-7 _ 4-z
Y=2 Ty T s
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The third question

a) Use the multiplicative inverse of a matrix to solve the following
equations: 2x-y +z=-1 , x-z=2 ,x +y=3.
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b) If the length of the perpendicular drawn from the point
A(O,—2,3)tothep|anex/fx + y-z + k = 1 equals 5 unit
of length. What is the value of k ?
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The fourth question

a) Find the cubic roots of the number (-8i) in the exponential form ,
then represent the roots on the Argand's plane.
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b) Find the volume of a parallelepiped in which three adjacent sides

are represented by the vectors
A=(1,3,3) ,B=(3,-2,0),C=(0,2,4) .
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The fifth question

a) Without expanding the determinant , prove that:
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b) If b=(-30,-25,-66)is apoint in the space and a is the point
of intersection of the straight line 2x = 3y- 1 = z- 4 with
the plane 3x + y - 2z = 5, then find the distance between the

two points a and b.
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